> A
A & 0l & AF 2 E A A
20158 & S0l & LEHSI A At Z AN &
AN dot=SAFE A
M gag 2l
Hel: DiSdsk 22l (&)
= _ — d =
CHB - BI(BH) - NN - B 0l &t o il HImEET
Aot S ALY A 39,342,954 40,300,568 AQ57,614
2 16,947,000
X 5,550,000
< 982,300
s 15,863,654
a5 2t 9,543,376 9,687,272 A 143,896
X 5,550,000
< 54,300
s 3,939,076
sSax=E 22 9,543,376 9,687,272 A 143,896
X 5,550,000
< 54,300
s 3,939,076
SHENS &=EAE HE=> 1,417,376 1,316,272 101,104
= 54,300
s 1,363,076
201 Let249] 16,736 31,032 A 14,296
01 At 22l 6,860 16,860 A 10,000
OgutgH| 3,360
—M4E YRET AREE 7Y
150,000& =128 1,800
— &) Rz 60,000& =63l 360
— L2t 2 082 20,000& 60 A 1,200
O=gtl 3,500,000& 3,500
02 =24l 9,876 14,172 A 4,296
O=323<HA 8,076
— M54+ E23 MEDUAN SI| &
450,000& x12& 5,400
— A AEAE BA++2 336,000 13 336
—EAM Hot=EAE= 100,000& = 12& 1,200
—dgs A2 48,0003 x12& 576
—RESYHR= 47,0003 x12& 564
OAIE ZHI S X 1,800
— HTYE(HAMA) B
1,800,000& 14 1,800
202 oddl 8,640 8,640 0
01 = LH o4 1l 8,640 8,640 0
OsHEdess 238 2FX 8,640,000 8,640
203 ¥ S =&l 2,000 2,000 0
03 Al =AY 2= 2,000 2,000 0
O&dt+=E Mg AIHFZ 2,000,000& 2,000
401 Al HI L 20l 1,390,000 1,274,600 115,400
< 54,300
fia 1,335,700
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L= B

el
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H
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SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
01 A& bl 1,378,930 1,264,682 114,248
Os0ELS &=EAE HE*
198,560, 000& 198,560
OgAaEI &X 20,000, 000& 20,000
Ol 943 i 99,100,000& 99,100
Otsa=5 F=HelAld 44X 99,100,000 99,100
OUISM4E L A72 S2AE 23244
99, 100,000 99,100
OL72 A4 HE= 99,100, 000& 99,100
OJIE Kot 3ot SSZAESA
69,370,000& 69,370
OXlot=2d HA(HAHAME) 99, 100,000 99,100
Oa= 22 S8A 29 99, 100, 000& 99,100
OZHEx= AL 496,400
—DIS4+E(S4AE) RN Ot
g9 496,400,000 496,400
< 54,300
[ia 442,100
03 Al 2 THHI 11,070 9,918 1,152
OS0ZDIE 44EAE HEs
200,000,0002 *0.72/100 1,440
o2& 283 uXl
100,000,0002 *0.90/100 900
ot F==HelAld &
100,000,0002 *0.90/100 900
Olt24=E & AR2 A4 23 EHl
100,000,0002 *0.90/100 900
OARE SF=AE HE*
100,000,0002 *0.90/100 900
OJIE XNot==IHe SItA &SEZASH
70,000, 000& *0.90/100 630
OXot=2d HA(MOHME)
100,000,000& *0.90/100 900
O 22 S2EAEY
100,000,000& *0.90/100 900
OEHIEXAY 3,600
— IS4 (SAE) SX2e 22tz
29 500,000, 000& *0.72/100 3,600
AREFTAE ALY 714,000 657,000 57,000
Xl 500,000
i 214,000
401 AIEHIZ 28I 714,000 657,000 57,000
Xl 500,000
[ia 214,000
01 A& Hl 709,501 652,860 56,641
OXNGLHELS A ALY 709,501




2N Aol AIE A
M gag 2l
e DS 22 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %Eﬁ HRE2
— AR ST AE ALY 709,501,000& 709,501
Xl 500,000
= 209,501
03 Al 201 Y| 4,499 4,140 359
OXNALNHELHZ HALH 4,499
— AR T AIE ALY
714,000,000 *0.63/100 4,499
SHEMES S IHLE ALY 7,412,000 7,314,000 98,000
Xl 5,050,000
= 2,362,000
401 AlEHIZL £ 0HY| 7,412,000 7,314,000 98,000
Xl 5,050,000
= 2,362,000
01 Al&H| 6,688,196 6,824,406 A 136,210
OXNALNHELF H AL 6,688,196
— Y BF SOHEMBTESLHLAY
1,366,829,000 1,366,829
Xl 1,200,000
= 166,829
—EEFFLAAE O|HAFY 1,912,548,000& 1,912,548
Xl 1,450,000
= 462,548
—ZH - E2E sHEHESLIMNEAMH
993, 700,000& 993,700
Xl 700,000
= 293,700
—HY SUHEMBTSLNLAY
993, 700,000& 993,700
Xl 700,000
= 293,700
— WY S EMES LAY
1,222,859,000& 1,222,859
N 1,000,000
= 222,859
—8&dZ =S F3HII2HE BEYHdEE L A
FES32H JH 229 198,560,000 198,560
02 2eldl 691,000 461,900 229,100
OXNGLNELG H AL 691,000
— Y - S2F sHEHES WL ALY
341,000,000& 341,000
— E2EFFLAAE O|HAFY 150,000, 000& 150,000
~ HUSEMEES HEAY
200,000,000 200,000
03 AlE 21| 32,804 27,694 5,110
OXNGLNELEF H AL 32,804
~ Y BF SOHEMERLNLAY
1,714,000, 000 «0.36/100 6,171




2N Aol AIE A
M gag 2l
Sl DI2ASE 22 CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
—EFHSNE0 AN
2,070,000,0002 +x0.36/100 7,452
—ZH - E2E sHEMESLINEAME
1,000,000, 000 «0.63/100 6,300
—HE SHEMESLHTAL
1,000,000, 000 «0.63/100 6,300
— WU S EMES LAY
1,428,000, 000 «0.36/100 5,141
—EHE +SHHOIZNE BYHEE L &
LAP52 F BY 1,440
200,000,000 x0.72/100
220t T 22 22,140,897 23,088,350 AN 947,453
= 16,447,000
= 728,000
= 4,965,897
ota=2t){ AH| 10,016,601 8,764,000 1,252,601
= 7,994,000
= 2,022,601
ZHEZ o2 H HU ALY 6,809,000 5,117,000 1,692,000
= 5,413,000
- 1,396,000
401 AlEHIZL 2 0HY| 6,809,000 5,117,000 1,692,000
= 5,413,000
= 1,396,000
01 Al& H| 6,371,977 4,684,207 1,687,770
OZHIEZANY 6,371,977
—ZH - E=H o2 HU ALY
6,371,977,000& 6,371,977
= 5,413,000
= 958,977
02 2teldl| 420,000 420,000 0
O=24IExZAY 420,000
—ZH - EE=H 52 FHAY
35,000,000 x12& 420,000
03 AlE 20| 17,023 12,793 4,230
OZHIEZANY 17,023
—ZH - EE=H o2 HU ALY
6,809,000,000€ x0.25/100 17,023
JHOFOtZ B2t H HUIAFY 3,207,601 3,647,000 A 439,399
= 2,581,000
= 626,601
401 Al HI L 2 0HHI 3,207,601 3,647,000 A 439,399
= 2,581,000
= 626,601
01 Al&H| 2,778,940 3,217,153 N438,213
O=2HIExZ ALY 2,778,940




2AMN: Aot ALY A
MM ZZote+T 22
& St=2t FHl (9 ® =)
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
— JIOF - OF2 ™ ot=2t) FHHIAIY
2,778,940,000& 2,778,940
= 2,581,000
= 197,940
02 2teltl 420,000 420,000 0
O=ZHIEXAY 420,000
—JIOF - OF2 ™ ot=2tH HHIAIY
35,000,000& x12& 420,000
03 A& 20HbI 8,661 9,847 N 1,186
O=2HIEXAY 8,661
— JlOF - OF2 ™ ot=2t) FHHIAIY
3,207,601,000& *0.27/100 8,661
S 20T A4 AHH| 12,124,296 14,324,350 N 2,200,054
= 8,453,000
T 728,000
= 2,943,296
SAHEREW dl=%= EH| 617,350 617,350 0
201 Bt A H| 13,030 13,030 0
01 AFR2 2t 2l Yl 5,140 5,140 0
OgbtgH| 200
—HAMATE 2 200,000& *13] 200
osg=+4¢ 2,700
— A FAHLG 150, 000& x9YH »23| 2,700
O3&H| 2,240,000& 2,240
02 53294l 7,890 7,890 0
O332=2 % HAl 3,190
—ol=% E3Hl 2,100,000& 2,100
— 23X NS XA 50,000& 50
— 22X BEE2 1,000,000& 1,000
—BENHREES 20,000& 23] 40
OX g - Ay 4,700
- 2SN SFUH 1,900& *2,0002| & 3,800
— 2SI A 450,000& *23] 900
202 (4] 4,320 4,320 0
01 2L Y] 4,320 4,320 0
Odle==dH| 2 gR2F& 4,320,000& 4,320
401 Al HI L RO 600,000 600,000 0
01 A& HI 595,500 595,500 0
OZANHEREW olx== HH| 148,920,000 148,920
OEAHERAY ot =4 148,920, 000& 148,920
OS3ota=E Hel729U At X 24
99, 100,000& 99,100




AN dot=SAFE A
Ny ZRolAT B2
Sl BIoALTAIE FH CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O2z2ol+& Mel2oilf 2 2= =2 & &
H E 198,560, 000& 198,560
03 A& 2 THHI 4,500 4,500 0
OEAMABASGWN dt== FHI
150,000,000& *0.72/100 1,080
OZANAHE ALY Sl &4
150,000,000& *0.72/100 1,080
O383ot=& Ml AIRX 24
100,000,000 *0.90/100 900
0BT+ HelRol 2 24 22 ¢ &
H &l 200,000,000% *0.72/100 1,440
Y sHE0tSot=& FUAY 1,206,267 3,136,600 A 1,930,333
= 830,000
< 71,000
i 305,267
401 Al HIZ 201 Y] 1,206,267 3,136,600 A 1,930,333
= 830,000
< 71,000
s 305,267
01 A& HI 1,121,524 2,967,331 A 1,845,807
O=HIEx ALY 1,121,524
— &4 OSot=% &X 1,121,524,000& 1,121,524
= 830,000
< 71,000
e 220,524
02 2feldl 80,400 160,800 A 80,400
OZHIEx= At 80,400
— &4 O0sdt=% &X 13,400,000& 6 & 80,400
03 Al 2 THHI 4,343 8,469 N4,126
O=HIEZ ALY 4,343
— &4 O0sot=% &X
1,206,267,000& *0.36/100 4,343
MM sHENMSOH=S FHALG 1,043,177 2,597,100 A 1,553,923
= 726,000
< 62,000
[ia 255,177
401 AIEHI L 2CHYI 1,043,177 2,597,100 A 1,553,923
= 726,000
< 62,000
[ 255,177
01 A& HI 959,021 2,426,950 A 1,467,929
O=HIEXZ ALY 959,021
— MM OS5t X 959,021,000& 959,021
= 726,000
< 62,000
s 171,021
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 2feldl 80,400 160,800 A 80,400
O=HIEX AL 80,400
— NN OsSot=S X 13,400,000& 6 & 80,400
03 Al S THHI 3,756 9,350 25,594
O=HIEXZAY 3,756
— NN OsSct=S X
1,043, 177,000& *0.36/100 3,756
Y sHEDSct=S ZHIAIS (222) 1,376,827 0 1,376,827
= 1,113,000
< 96,000
[ia 167,827
401 AIEHIZL 201 1,376,827 0 1,376,827
= 1,113,000
< 96,000
s 167,827
01 A& HI 1,211,070 0 1,211,070
O=HIEXZ ALY 1,211,070
— U Ootsot== AXI(28H2)
1,211,070,000& 1,211,070
= 1,113,000
< 96,000
e 2,070
02 Zeltl 160,800 0 160,800
OZHIEx= At 160,800
— U Otg2ctx== AXI(2EH)
13,400,000 x12& 160,800
03 Al 2 0HHI 4,957 0 4,957
O=HIEXZ AL 4,957
— U Otsot== AXI(28HH)
1,376,827,000& *0.36/100 4,957
832 sHE0Sot=E ZHIAY 1,449,827 0 1,449,827
= 1,172,000
< 103,000
s 174,827
401 Al HI K 201 I 1,449,827 0 1,449,827
= 1,172,000
= 103,000
s 174,827
01 A& HI 1,283,807 0 1,283,807
OZHIEx= At 1,283,807
— 893 s E OtSot=< UMY
1,283,807,000& 1,283,807
= 1,172,000
< 103,000
[ia 8,807
02 2eltl 160,800 0 160,800
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0 OF 0%
0K Op St
[e]]

ol
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o

=
nx
0
=

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O=HIEXAY 160,800
— 83 sHE OtSot=< FHIAMY
13,400,000& 122 160,800
03 Al 2 0HHI 5,220 0 5,220
OZ3HIEx= A 5,220
— 8= SO0 O03ot=& ZFHAE
1,449,827,000% *0.36/100 5,220
E2F sHENSot=E EHAZ 2,182,000 714,000 1,468,000
= 1,554,000
< 134,000
s 494,000
401 Al HIZ 201 I 2,182,000 714,000 1,468,000
= 1,554,000
S 134,000
s 494,000
01 A& HI 2,013,344 548,701 1,464,643
OZHIEx= At 2,013,344
—8F sOE OSot=& FHAY
2,013,344,000& 2,013,344
= 1,554,000
< 134,000
= 325,344
02 Zeltl 160,800 160,800 0
O=HIEXZ AL 160,800
—EF sHE OtSdt=% FHIAMY
13,400,000& =128 160,800
03 A& S THHI 7,856 4,499 3,357
O=HI2 XA e 7,856
—8F SOE OSot=& FdAE
2,182,000,000& *0.36/100 7,856
EFNHs sHEOSGH=S ZFHIAY 4,248,848 1,543,000 2,705,848
= 3,058,000
< 262,000
[ia 928,848
401 AIEHI L 20HYI 4,248,848 1,543,000 2,705,848
= 3,058,000
< 262,000
e 928,848
01 A& HI 4,076,576 1,376,645 2,699,931
O=HIEXZ AL 4,076,576
—EF)s sHE OISot=S FHAY
4,076,576,000& 4,076,576
= 3,058,000
= 262,000
s 756,576
02 Zeltl 160,800 160,800 0




A dot=Z A A
Ny ZRolAT B2
Sl BIoALTAIE FH CERED
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
O=HIEXAY 160,800
—2FIs sHE Ot2ota=S FUIALY
13,400,000& 122 160,800
03 Al 20 HI 11,472 5,555 5,917
O=HIEXZ ALY 11,472
—EFJEs sHE Ot2ot=S FUALLY
4,248,848,000% *0.27/100 11,472
HE2HA I (Aot=Z At L) 20,740 20,740 0
Jl=234l 20,740 20,740 0
Jl23Hl 20,740 20,740 0
201 £B-2%| 8,140 8,140 0
01 At 22/l 8,140 8,140 0
Oger==EH| 8,140,000& 8,140
202 oddl 8,400 8,400 0
01 = LH o4 1l 8,400 8,400 0
A2 (A, O, 32E 4 5)
8,400,000 8,400
203 R =&l 4,200 4,200 0
04 EAN2I LRI 4,200 4,200 0
OFRN2ILRFAHI 4,200,000& 4,200
HEES (Aot ZAIEA) 7,632,441 7,298,656 333,785
= 500,000
< 200,000
i 6,932,441
HEHHK = 7,632,441 7,298,656 333,785
= 500,000
< 200,000
i 6,932,441
It HEES 2,303,467 2,259,962 43,505
701 JIEtSI HSHES 2,303,467 2,259,962 43,505
01 JIEtSI HE =3 2,303,467 2,259,962 43,505
OxZMLEELEINH HNES 2,303,467,000& 2,303,467
SISELIINEES 5,328,974 5,038,694 290,280
= 500,000
< 200,000
s 4,628,974
701 JIEt3I HSEES 5,328,974 5,038,694 290,280
= 500,000
< 200,000
[ia 4,628,974
03 BIILELEIIAHMNEBNES 5,328,974 5,038,694 290,280
O4x=EZINHELIA N=dE
3,928,974,000& 3,928,974
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